Further Practices

Further Practice 1.1A
Basic

1.
List all the factors of the following.
(a) 66

(b) 36
2.

(a)
List the first five multiples of 7. 
(b)
List the first six multiples of 12.
Intermediate

3.
Which numbers, 2, 4, 6, 38, 71, 128 and 142, are factors of 284?

4.
Which numbers, 8, 10, 12, 14, 18, 26, 28, 44, 48, 50, are multiples 
of 4?

Challenging

5.
Mr Tan is organising a bowling tournament. He requires 12 teams of five members to participate. Each team must have at least two women. Find
(a)
the least number of women who can participate,
(b)
the maximum number of women who can participate,
(c)
the least number of men who can participate, and
(d)
the maximum number of men who can participate.

Further Practice 1.1B
Basic

1.
List the first five prime numbers greater than 90.
2.
How many prime numbers are there between 20 and 39?

Intermediate

3.
Use the ‘continuous division’ method to find the prime factorisation 
of 420.

4.

(a)
List down the prime factors of 120.
(b)
Given that 9000 = 3 × 25 × 120, list down the prime factors 
of 9000.

Challenging

5.
Determine the prime factors of 22 222.

Further Practice 1.1C

Basic
1.
Find the HCF of the following.
(a) 16 and 36
(b) 12, 18 and 24

2.
Find the LCM of the following.
(a) 12 and 32
(b) 5, 12 and 15
Intermediate

3.
By using prime factorisation, find the HCF of the following.
(a) 450 and 600
(b) 32, 48 and 72
4.
By using prime factorisation, find the LCM of the following.
(a) 150 and 400
(b) 25, 30 and 75.

Challenging

5.
The LCM of 18 and Y are 90. The LCM of 12 and Y are 60. Given that Y is greater than 10 and it has four factors, find the value of Y.

Further Practice 1.1D

Basic 
1.
Find the following without using a calculator.
(a) 32




(b)
442
 
(c) 792       



(d)
1212
(e) 
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(f)

[image: image2.emf]V225









225


(g) 
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(h)
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Intermediate

2.
Find the following without using a calculator.
(a) 202 – 14 × 18

(b) 182 + 72 – 192
(c) 
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(d) 
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Challenging

3. Azmi has 8 uncles. Each of his uncles has 8 children. Bashir has 13 aunts. Each of his aunts has 13 children. Both Azmi and Bashir took all their cousins to a funfair. The cost of admission to the funfair is $5 per person. How much more money will Bashir spend?

Further Practice 1.1E

Basic

1.
Find the following using a calculator.
(a) 73




(b)
143
(c) 
[image: image7.emf]








512

3






(e)
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Intermediate

2.
Find the following using a calculator.
(a) 43 × 53 – 73



(b)
93 ÷ 23 + 83
(b) 
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(d)
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Challenging

3.
Bobby has four baskets. Each basket contains four boxes. Each box contains 4 marbles. Fahmi has x baskets. Each basket contains 
x boxes. Each box contains x marbles. If Fahmi has 448 marbles more than Bobby, how many more baskets does Fahmi have?
Further Practice 1.2A

Basic

1.
Evaluate the following.

(a) 48 – 12 ÷ 3 + 4 × 5
(b) 14 × 8 ÷ 7 + 69 ÷3 × 5
Intermediate

2.
Evaluate the following. 
(a) 
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 + 23 × 5 – 18 ÷2
(b) 15 ÷ 
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 + 112 – 23 × 32
Challenging

3.
David bought three bags of marbles at $8 per bag and seven bags of toy cars at $7 per bag. There were 65 marbles in each bag and 10 toy cars in each bag. If he sells the marbles at 5 for $1, and the toy cars at 1 for $1, find his profit by completing and simplifying the following expression.
3 × (____ ÷ 5 – 8) + ____ × (10 ÷ ____ – ____ )

Further Practice 1.2B

Basic

1.
Evaluate the following.
(a) 104 – (72 + 12 ( 2) ÷ 2


(b) (48 + 50) ( 2 – (77 ÷ 11 + 42)
(c) 98 ÷ [2 × (3 + 4)] + (30 × 3) ÷ (48 – 3)
Intermediate

2.
Evaluate the following without using a calculator.
(a) 73 × (
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 – 17) ÷ 14 
(b) 42 ÷ (
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Challenging
3.
Evaluate 
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 without using a calculator.
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